RZ4-45

Moa. Ne HaunmenoBanune HIngp neranu EUR
D1 01. Buatr M6LHx20 DIN 912 215502-C 0,10
D2 01. Buar M6x20 DIN912 215502 0,10
02. IDnacruua [E-5709B.00.00.71 5709B00007 1k 0,01
03. ®nanen RZ4-45.00.00.08 RZ4-45000008 0,31
04. Tunewsni quck 130x16x24z 300525 1,28
05. Brynka RZ4-45.00.00.07 RZ4-45000007 1,15
06. Koo cronoproe 32x1,5 DIN 471 300517 0,07
07. Koxyx noxsmkublii RZ4-45.05.00.00 RZ4-45050000 0,61
08. Ocb RZ4-45.00.00.13 RZ4-45000013 0,03
09. Haxmanka koprmyca RZ4-45.00.00.05 RZ4-45000005 0,75
11.  Bunr M4x16 DIN 965 216307-A 0,03
12.  Kpsimka pexykropa RZ4-45.04.00.01 RZ4-45040001 1,21
13.  TMommmnauk 6000 2Z (80100) 300865 0,94
14.  Kommnencarop LSM1-115.00.00.18 LSM1-115000018 0,04
15.  Koumbuo cronoproe 26x1,2 DIN 472 300496 0,04
D1 16. Hlnuagens B coope RZ4-45.04.01.00 RZ4-45040100 1,96
D2 16. Ilnunpmens B coope RZ4-45.04.01.00-K RZ4-45040100k 1,96
17.  Togmmmnuuk 607 2Z (80017) 300674 0,50
18.  Koumbuo DIN6799-4 300535 0,01
19.  Kopmyc RZ4-45.00.00.04 RZ4-45000004 2,59
20. Bunr M4x16 SPEZ 16zn 215779-A 0,01
21.  Bxuageim RZ4-45.00.00.17 RZ4-45000017 0,04
22. Taiika M6 DIN 934 215004-A 0,01
23.  Tlpyxwuna RZ1-70.00.00.29A RZ1-70000029Ak 0,09
24.  Kmun RZ4-45.00.00.12 RZ4-45000012 0,21
25. Illaii6a M6 DIN 125 215253-A 0,01
26. Bunar M6x20 DIN 84 216617-A 0,01
27.  Bunar M6x16 DIN 84 216616-B 0,03
28.  VYmko RZ1-70.00.00.32A RZ1-70000032A 0,01
29.  Apanrep RZ4-45.00.00.10 RZ4-45000010 0,11
30. Koo RZ4-45.00.00.09 RZ4-45000009 0,03
31. TMommumnauk 608 2Z (80018) 300791 0,87
32.  Sxopb RZ4-45.02.00.00 RZ4-45020000-00k 7,40
33.  Tlomuwmnuuk 626 2Z (80026) 300909 0,85
34.  Jlnapparma RZ4-45.01.00.01 RZ4-45010001 0,07
35.  Crarop E1-82.02.00.00 E1-82020000k 3,41
37.  Kopmyc neurarens RZ4-45.01.00.02 RZ4-45010002 0,94
38.  Illaii6a M4 DIN125 215257-A 0,01
39.  Iaii6a npyxunsas M4 DIN127 215258 0,03
40.  Bunt M4x25 DIN 84 216609-A 0,01
41.  Bunr M4x16 SPEZ 17zn 215785-A 0,01
42.  Kpeiuka RZ4-45.00.00.01 RZ4-45000001 0,37
43.  Ierka S1-00.00.00 S1000000k 0,36
44.  Oboiima B coope E1-82.08.00.00 E1-82080000 0,26
45. Bunt M4x40 SPEZ 162zn 215790 0,01
46.  Haknazka pyuxkn RZ4-45.00.00.14 RZ4-45000014 0,74
47.  Kongnencarop MEX GPF 40/085 0.22 mF 301447 0,11
48.  Bunt M4x20 Spez 16 215776-A 0,01
49.  Kypok E1-82.00.00.27-01 E1-8200002701 0,09
50.  Beixmouarens MS-2 2413.30 301063 0,71
51. Taiika cienmansHas RZ1-70.07.00.00 RZ1-70070000k 0,18
52.  Brynka RZ4-45.00.00.15 RZ4-45000015 0,09
53.  KaGexns B c6ope HOSVV-F (PVC) 2x1 301396 1,48
54.  Tpy6ka sammraas [E-5202E.01.00.08 5202E010008 0,10
55.  Pyuka RZ4-45.00.00.03 RZ4-45000003 0,74
56. Taiika cienmansHasg TRUI-10E.00.05.11 TRU1-10E000511 0,11
57.  Ilaii6a M6 DIN 125 215253-A 0,01
58. Bunt M6x14 DIN 84 216651-A 0,01
59.  Bunr-6apaurek [E-5709A.04.00.00 5709A040000k 0,11
60.  Bunt M4x20 Spez 16 215776-A 0,01
61.  Ocuosanue B c6ope RZ4-45.03.00.00 RZ4-45030000 2,99
62.  Tlepexuuii cekrop RZ4-45.03.00.04 RZ4-45030004 0,18
63.  Bunt M6x25 DIN 603 215507 0,04
64.  Vkaszarens RZ4-45.00.00.16 RZ4-45000016 0,06
65.  Jluneiika RZ4-45.06.00.00 RZ4-45060000 1,45
66. Koy SW6 DIN 911 300503 0,18

IIpumeyanus:
D1 — neBas pe3pba

D2 — npaBas pe3nba

23



